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Problem 1

The vector magnetic potential for a Hertzian dipole is given by
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(∇2 + k2)~̃A =
µI dl

4π

[
1

r2
∂

∂r

(
r2
∂

∂r

exp(−jkr)
r

)
+ k2

exp(−jkr)
r

]
ẑ
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This result is completely consistent with the impulsive current density source of
a Hertzian dipole – 0 everywhere except the origin, where the current density
is impulsive.

Problem 2
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Problem 3
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Note that this is the same basic result as the Hertzian dipole, differing only by
a constant of proportionality. This leads to similar radiation parameters.
The radiation resistance=20π2(Lλ )2
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